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Design Of RC Structural Elements \ SubCode: | 18CV53 \Branch: Civil \

Sub:

1 |A RCC beam 250mm wide and 450 mm deep is reinforced with 3 numbers of 20mm dia bars of
grade Fe415, on the tension side with an effective cover of 50mm. If the shear reinforcement of 2
legged 8mm dia stirrups at a spacing of 160mm c/c is provided at a section, determine the designl
ultimate shear strength of the section. Assume M20 concrete.
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2 |A T — beam having a width of flange 700 mm and depth of flange 90mm. Effective depth of beam
1s 600mm, width of web is 240mm reinforced with 5 bars of 25mm dia on tension side. Find moment|
of resistance of the section. Use M 15 grade concrete and Fe415 grade steel.
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A rectangular RCC beam is of 250mm x 500mm overall size with an effective cover of 50mm on
both the tension and compression sides. It is reinforced with 4 bars of 20mm bars on compression
sides. Calculate the steel on tension side with 20mm bars and find the total moment of resistance
of the section. Use M25 concrete and Fe415 steel.
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An isolated simply supported T beam has a

of the section. Use M20 concrete.

120mm. The effective span of beam is 3.6m. The effective depth of beam is 580mm and its width|
300mm. It is reinforced with & — 20mm diameter Fe415 bars. Determine the moment of resistance
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Calculate the moment of resistance of a RC beam of rectangular section 250mm wide and 500mm|
deep, if it is reinforced with 6 — 20mm bars on tension side and 2 number of bars on compression|
side. Assume steel of grade Fe250 and concrete of grade M20. Effective cover provided is 40mm

on both sides.
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